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MDE/D-21 4398
COMPANY LAW
MC-104
Time : Three Hours] [Maximum Marks : 80

Note : Attempt Five questions in all. Q. No. 1 is compulsory.
Attempt any four questions out of remaining seven
questions.
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1. Write short notes on the following : 4x6=24

(1)  The Joint Stock Companies Act, 1966.

(i) Register of members.

(iii) Differences between forfeiture of shares and lien on
shares.

(iv) Explain Debenture Trust Deed.

(v)  Qualification Shares.

(vi) Memorandum of Association.
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2. Discuss briefly the history of company law of India.
Is company law of India influenced by British Company
Law ? 7+7=14
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3. Define Articles of Association. Discuss the limitations or
restrictions regarding alteration of articles. 5+9=14
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4. What do you understand by a ‘Resolution” ? How many
types of resolutions can be passed by a company ? What
are the provisions of the Companies Act with respect to
resolutions ? 4+5+5=14
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5. What is a ‘Share Certificate’ ? How can it be issued ?
What are the legal procedures of the issue of Share
Certificate ? 4+5+5=14
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6. Explain the meaning and different modes of amalgamation
of companies and state the statutory provisions and
procedure regarding amalgamation. 4+5+5=14
HIH & Thieh(T okl A qen Sehl fafe™l =t =awen
I 3R STH [ GauTen WasM qe Tishal i s
ST |

7. Discuss the rights and labilities of a company’s
member. 7+7=14
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8. What do you understand by the winding up of a company ?
Discuss the circumstances in which a company may
be winding up the National Company Law Tribunals
(NCLT) ? 7+7=14
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